DYC

RO SPOT oooooooo

‘DEMU 0ooo

W 00ooooooo

s 150W0 100Wi 07000

goooooood
75WD 65Wi0 5000

-

| L ol I
=i | L “' b 7
| | l I ‘ = ==
[.4m - o Am e
0oooog UZDDDDLODUDJLX oooooog UZDDDDngumLx oooooo WDDD@OD mn.x
= HZDDFD 2\000 g = :I.IZEIEII‘:IEI 20\00 5 H [’ 1/2EIEII‘:IEI m E
|| #A090__ [0.0.2 5900 .8 1520_ k03 2900 0 L1783 los 1500 1000}:
/1370 / Hg‘ooo 8 gers [ bo‘oo 5 | /350 / g
17 o3 ‘1470 |9 1380 o7 72/5 ‘ 0 1198 11 :775 5008
) o
2 o
0 0.5 ‘655/ o0 3D 1.0 3/25%{@ 3D 16 | 165 &3“
100
o7 370 200 " 13 180j\21(m . 21 95/\ .
906 1 06 1 120904

oooom
s50000000000006s00000

0ooom
500000000000006SWOOOO

0o0o00(m
50000000000006sWOOOO

3,000K
0O000O0o0Oooo
75Whn7o00
=
%
F 0
If = B
0
W b i | =
I_ il iy = (“.-_—_ I . D
4 ks : 4 i O
0ooooo MDDDD:th:luELLx jafefafafa)s} UZDDDﬁOD mu ®
= 1/2DDFD 20\00 E H = :I.IZEIEII‘:IEI m B
4520 [00.3 2900 .0 [ly78s bos 1500 100017
gers [Wlkooo | & |35 / | C
80 o7 | 725 0 118 11 |375 5008
[ 600 |° / 200/ 7
1.0 3/25 ‘ . 16 | 165 o
[ 100
p13]180 200 " p21 95/\ "
120906 1 06

ooodm
500000000000006SWOOODO

0ooom
500000000000006SWOOOO

ooo
000

noog
360°

\, 0

DDDD
0.5m

ooo
ooIo

-

noog
350°

@)

DDDD
0.3m

oooooo

DSL-2739XWhooooo
DSL-2739XS oooooo
¥7,200

1OOW]E11D<1D
00000000mMO7000

65WIE11x 10
00000000mo5000
000000 00D00o2739Xwo
000 0000002739XS0O
©0.30
® [ 090°000360°

—_
g
N
& — L
o

g

00000000000700 C150W0 100W1 E110[3.000K]
000 DP-51688E ¥3,4001 17,000cd 2,000h0
000 DP-51689E ¥3,4000 6,300cd 2,000h0
000 DP-51690E ¥3,4000 3,200cd 2,000nh0)

00000000000500 075W0 65W1 E110B00K
000 DP-34817 ¥2,6000 5,900cd 3,000h0
000 DP-34818 ¥2,6000 2,900cd 3,000h0
000 DP-34819 ¥2,6000 1,500cd 3,000nh0

DSP-3378070000000 DSP-3378170000000

DSP-52242-00000 DSP-52243:00000

¥4,600 ¥4,600
75WIE11x 10 75WIE11x 10
0Ooo0o0o0o0oomoboon 0oo000oooomos000

goooo oo goooo oo

(.10 (.20

®0070°000350°
0MmOoo000000000000000

00000000000500 075W0 65W1 E110[3.000K
000 DP-34818 ¥2,6000 2,900cd 3,000h0
000 DP-34819 ¥2,6000 1,500cd 3,000h0

e0000DODOO

®[](]70°000350°
00o0o001.8mo000000000000
0OMmbOO00000000D00000000

€
W N
- 0
o904
-
N
=
& —t
[®A%
20 B
Bry
o loov
=N
00000000000M00000000000000 413

000000000000000000000MO0000000



